I o) ) = 4 %) )

1 29 =+ 9 = HEY 1 /7 = L = HEY
2 57 = 6 = HEY 2 48 + 7 = HEY
3 /& + 7 = HEY 3 39 =+ & = HEY
4 /9 = Y = HEY 4 L5 + 7 = HEY
5 43 + 5 = HEY 5 S& + 4 = HEY
6 57 + & = HEY 6 Sy = 5 = HEY
7 /7 S = HEY 7 40 + 6 = HEY
8 /S + L = HEY 8 7 o+ 3 = HEY
9 /5 = 6 = HEY 9 75 + & = HxY
10 /7 = Y = HEY 10 yy + & = HEY
2 n 2 = 5 o) @

1 50 =+ 6 = HEY 1 L8 + S = HEY
2 Y + 7 = HEY 2 SY = 4 = HEY
3 24 = Y = HEY 3 Sy = é = HxY
4 75 + & = HEY 4 Y446 = & = HEY
5 /7 + 2 = HEY 5 7 + L = HEY
6 25 =+ 9 = HEY 6 L5+ 7 = HxY
7 L0 + S = HEY 7 68 =+ 9 = HEY
8 /S + 5 = HEY 8 /Y = 5 = HEY
9 S0 + 7 = HEY 9 L7 + Yy = HEY
10 35 + Y = HEY 10 Y9 + 6 = HEY
3 n 2 = 6 o) %

1 L/ + Q = HEVY 1 37 = Y = HEY
2 SY + 7 = HEVY 2 S5/ + 4 = HEY
3 /77 =+ L = HEY 3 37 + 5 = HEY
4 S5/ = 5 = HEVY 4 gL = § = HEY
5 S7 + Y = HEVY 5 7 + L = HEY
6 L5 + S = hEY 6 /9 =+ 9 = HEY
7 4é + 6 = HEY 7 Y45 = 7 = HEY
8 /7 + 5 = HEY 8 // = 3 = HEY
9 S0 + 7 = HEY 9 65 + ? = HEY
10 /7 + & = HEY 10 2/ = Y = HEY

RARKRER




7 ( 5 ) = 10 g )

1 /7 + 3 = HEY 1 S& + S5 = HEY
2 ? + 2 = HEY 2 75 = & = HEY
3 5/ + 7 = HEY 3 /7 = L = HEY
4 /& + 5 = HEY 4 S7 + 7 = HEY
5 &7 + 7 = HEY 5 /& = Y = HEY
6 S7 = ¢ = HEY 6 7 = S = HEY
7 J& + § = HEY 7 47 + 6 = hEY
8 37 + Y = HEY 8 37 + 9 = HEY
9 L7 + 3 = HEY 9 L0 + S = HEY
10 /5 = 7 = HEY 10 50 + & = HEY
8 ( 5 ) = o )

1 720 = 9 = HEY 1 L0 + 4 = HEY
2 /5 + 7 = HEY 2 LS5 + S5 = HEY
3 L6+ S = HEY 3 /9 = 2 = HEY
4 L7+ 5 = HEY 4 L7+ Y = HEY
5 // + 2 = HEY 5 LE = S = HEY
6 74 = {4 = HEY 6 57 = ? = HEY
7 75 + § = HEY 7 75 + & = hEY
8 L7 + Y = HEY 8 L6 = 7 = HEY
9 /5 + {4 = HEY 9 68 + ? = HEY
10 g4/ = 7 = HEY 10 2/ + Y = HEY
9 ( 5 ) 12 o )

1 £0 + 7 = HEY 1 L/ = 4 = HEY
2 /7 + 2 = HEY 2 /7 = L = HEY
3 LéE + 3 = HEY 3 5/ = 7 = HEY
4 /0 + Y = HEY 4 75 = ? = HEY
5 L/ + {4 = HEY 5 /4 = S5 = HEY
6 L3 + 5 = HEY 6 Y$Yo = & = HEY
7 £5 + 9 = HEY 7 /7 = S = HEY
8 49 + & = HEY 8 L3 + Y = HEY
9 JY = 3> = HEY 9 597 + s = HEY
10 9 = Yy = HEY 10 &3 + 9 = HEY
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13 ( o) » =5 16 n )

1 L4+ s = HEY 1 L5 = 7 = HEY
2 S7 = 5 = HEY 2 50 =+ 4 = HEY
3 SS9 + 7 = HEY 3 75 = ? = HEY
4 L4+ 3 = HEY 4 /S = L = HEY
5 57 + ¢ = HEY 5 53 = & = HEY
6 59 + 9 = HEY 6 7 = S = HEY
7 7+ L = HEY 7 L/ + Y = hEY
8 L/ + Y = HEY 8 36 + S5 = HEY
9 74 + s = HEY 9 /7 = 4 = HEY
10 L7 + & = HEY 10 QY + 4 = HEY
14 ( 5 ) = 17 o )

1 &§ + 7 = HEY 1 7 + L = HEY
2 L7 + Y = HEY 2 S7 + 7 = HEY
3 749 = s = HEY 3 L5 = & = HEY
4 S/ + 5 = HEY 4 29 = 3 = HEY
5 /7 = 6 = HEY 5 4 + Y = HEY
6 L7 + 7 = HEY 6 S7 + 4 = HEY
7 7 o+ L = HEY 7 S0 + 7 = HEY
8 L7 + 3 = HEY 8 Y$Yo = 5 = HEY
9 LY + 9 = HEY 9 8§y = 4 = HEY
10 597 + 7 = HEY 10 Y =+ & = HEY
15 ( 5 ) o 18 o )

1 L/ + 7 = HEY 1 &0 + ? = HEY
2 L3 + 5 = HEY 2 L7 = Y = HEY
3 55 + 7 = HEY 3 Y$Y3 = & = HEY
4 37 + 6 = HEY 4 /9 = 46 = HEY
5 L5 + 3 = HEY 5 5 + S = HEY
6 /7 + 2 = HEY 6 /7 = L = HEY
7 ACHE Y = HEY 7 S5/ + 7 = HEY
8 Y3 + & = HEY 8 L3 + 5 = HEY
9 £ = 7 = HEY 9 67 + & = HEY
10 /Y= 5 = HEY 10 35 + Y = HEY
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19 ( 5 W m 22 ( g )

1 L7 + ¢ = HEY 1 74 + ? = HEY
2 S5 + 5 = HEY 2 ? + L = HEY
3 37 + Y = HEY 3 L& + 5 = HEY
4 ? + 2 = HEY 4 S7 + Y = HEY
5 L7 + 3 = HEY 5 S5/ = 7 = HEY
6 55 + s = HEY 6 53 = 4 = HEY
7 Y$Yo = 9 = hEY 7 s =+ 3 = hEY
8 /7 + 7 = HEY 8 L7 = & = HEY
9 gZ/ = 5 = HEY 9 S7 + 4 = HEY
10 /9 =+ Y = HEY 10 53 = ? = HEY
20 ( 5 ) m 23 ( o )

1 L3 + 3 = HEY 1 S7 + Y = HEY
2 SY = s = HEY 2 /7 = L = HEY
3 S7 = {4 = HEY 3 54 = 7 = HEY
4 £9 + 7 = HEY 4 S7 + 4 = HEY
5 S/ = Y = HEY 5 LS + & = HEY
6 /7 =+ 5 = HEY 6 /9 + g = HEY
7 /7 * L = HEY 7 5L + 7 = HEY
8 SY = 9 = HEY 8 /7 = S = HEY
9 745 = {4 = HEY 9 S/ + Y = HEY
10 g4/ = & = HEY 10 S0 =+ Y = HEY
21 ( 5 ) m 24 ( o )

1 /5 + 2 = HEY 1 L0 + & = HEY
2 37 =+ Y = HEY 2 g4 = 4 = HEY
3 5/ + 9 = HEY 3 LE = S = HEY
4 33 =+ 7 = HEY 4 LY = S5 = HEY
5 Z/ = 5 = HEY 5 S0 + ? = HEY
6 /3 + 3 = HEY 6 /7 = L = HEY
7 /9 + 46 = HEY 7 SY + 7 = HEY
8 55 + & = HEY 8 L7 + 4 = HEY
9 39 + Y = HEY 9 /Y + 4 = HEY
10 L3 + Y = HEY 10 /5 + é = HEY
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25 ( 5 W = 28 ( g )

1 58 =+ 6 = HEY 1 L/ * 5 = HEY
2 L/ + s = HEY 2 53 = & = HEY
3 SY = 5 = HEY 3 /7 = Y = HEY
4 ? + 2 = HEY 4 Yge = 4 = HEY
5 LéE + 7 = HEY 5 L0 + 7 = HEY
6 S7 = Y = HEY 6 /7 = S = HEY
7 65 + 7 = HEY 7 /7 o+ L = HEY
8 /7 + 3 = HEY 8 53 + ? = HEY
9 SY = s = HEY 9 7 = S = HEY
10 7 + L = HEY 10 /7 = Y = HEY
26 ( 5 ) m 29 ( o )

1 L0 + 7 = HEY 1 /7 = L = HEY
2 947 = s = HEY 2 L0 + S = HEY
3 L/ + {4 = HEY 3 L + ? = HEY
4 37 =+ Y = HEY 4 L0 + 7 = HEY
5 LY + 5 = HEY 5 S/ + & = HEY
6 /7 + 2 = HEY 6 LY = S5 = HEY
7 78 + 7 = HEY 7 S0 + Y = HEY
8 L0 + 3 = HEY 8 5L = 4 = HEY
9 L7 + {4 = HEY 9 ? + L = HEY
10 yy = & = HEY 10 /7 = 7 = HEY
27 ( 5 ) = 30 ( o )

1 947 = s = HEY 1 /7 = L = HEY
2 /O + Y = HEY 2 8§/ = 7 = HEY
3 57 + {4 = HEY 3 SY + 5 = HEY
4 /Y + 3 = HEY 4 /S = S = HEY
5 50 + 9 = HEY 5 // = Y = HEY
6 947 = 7 = HEY 6 L7 + 4 = HEY
7 /& = & = HEY 7 &7 + 7 = HEY
8 /7 = L = HEY 8 7/ + & = HEY
9 60 + 7 = HEY 9 L8 + 5 = HEY
10 S/ + 6 = HEY 10 AN L = HEY
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